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10.100.100,3/24

E0/0: 10.100.10:0. 1,/24

S1f0c 10.20.20.1/ 24

$1/0: 10,910,101

S2/0: 10.20.20.2/24

§10: 1000002734

E0/D: 10 20:0.200.2/24



R1#show running-config

Building configuration...

|

!

interface Ethernet0/0

ip address 10.100.100.1 255.255.255.0
ip policy route-map blah

|
interface Seriall/0

ip address 10.10.10.1 255.255.255.0
|
interface Serial2/0

ip address 10.20.20.1 255.255.255.0
I

router ospf 1
!I--- OSPF is not configured on Seriall/0.

Tog-adjacency-changes
network 10.20.20.0 O.

network 10.100.100.0
I

0.0.255 area 0

0.0.0.255 area 0

ip classless

no ip http server

!

access-1ist 100 permit ip host 10.100.100.3 host 10.200.200.4
!
route-map blah permit 10

match ip address 100

set ip default next-hop 10.10.10.2
!
end

R2

R2#show running-config
Building configuration...
!
!

interface Ethernet0/0

ip address 10.200.200.2 255.255.255.0
ip policy route-map blah

!

interface Seriall/0

ip address 10.10.10.2 255.255.255.0
fair-queue

!

interface Serial2/0

ip address 10.20.20.2 255.255.255.0

|

router ospf 1
!I--- OSPF is not configured on Seriall/0.
log-adjacency-changes

network 10.20.20.0 O.
network 10.200.200.0

55 area 0

0.0.2
0.0.0.255 area 0




ip classless

no ip http server
!
access-1ist 100 permit ip host 10.200.200.4 host 10.100.100.3
|
route-map blah permit 10

match ip address 100

set ip default next-hop 10.10.10.1
|
end

b E S il

£ @ Sset ip default next-hopts , EBRIBHFHERBERTE , FRAEFER (F2HENE
EATRIEREH ) -

<tfroot>

R1l#show ip route 10.200.200.4
Routing entry for 10.200.200.0/24
Known via "ospf 1", distance 110, metric 74, type intra area
Last update from 10.20.20.2 on Serial2/0, 00:11:48 ago
Routing Descriptor Blocks:
* 10.20.20.2, from 10.30.30.3, 00:11:48 ago, via Serial2/0
Route metric is 74, traffic share count is 1

R1l#debug ip policy
Policy routing debugging is on
*Dec 4 12:50:57.363: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, T1en 100, policy match
*Dec 4 12:50:57.363: IP: route map blah, item 10, permit
*Dec 4 12:50:57.363: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Serial2/0), Ten 100, policy rejected -- normal forwarding
*Dec 4 12:50:57.431: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, T1en 100, policy match
*Dec 4 12:50:57.431: IP: route map blah, item 10, permit
*Dec 4 12:50:57.431: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Serial2/0), len 100, policy rejected -- normal forwarding
*Dec 4 12:50:57.491: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, T1en 100, policy match



*Dec 4 12:50:57.491: IP: route map blah, item 10, permit
*Dec 4 12:50:57.491: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Serial2/0), Ten 100, policy rejected -- normal forwarding

R2#
show i p route 10.100.100.3

Routing entry for 10.100.100.0/24

Known via "ospf 1", distance 110, metric 74, type intra area

Last update from 10.20.20.1 on Serial2/0, 00:11:42 ago

Routing Descriptor Blocks:

* 10.20.20.1, from 10.100.100.1, 00:11:42 ago, via Serial2/0
Route metric 1is 74, traffic share count is 1

R2#

debug ip policy

Policy routing debugging is on
*Dec 4 12:50:57.779: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3, Ten 100, policy match
*Dec 4 12:50:57.779: IP: route map blah, item 10, permit
*Dec 4 12:50:57.779: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3 (Serial2/0), Ten 100, policy rejected -- normal forwarding
*Dec 4 12:50:57.839: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3, Ten 100, policy match
*Dec 4 12:50:57.839: IP: route map blah, item 10, permit
*Dec 4 12:50:57.839: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3 (Serial2/0), Ten 100, policy rejected -- normal forwarding
*Dec 4 12:50:57.911: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3, Ten 100, policy match
*Dec 4 12:50:57.911: IP: route map blah, item 10, permit
*Dec 4 12:50:57.911: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3 (Serial2/0), Ten 100, policy rejected -- normal forwarding

ESerial 2/0B8FA B B Ky #b it fEBR AR PR R | BRI EITRIEMHHE,

<#froot>
R1#

show i p route 10.200.200.0

% Network not in table

R1#

*Dec 5 13:26:27.567: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, Ten 100, policy match

*Dec 5 13:26:27.567: IP: route map blah, item 10, permit

*Dec 5 13:26:27.567: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Seriall/0),len 100, policy routed

*Dec 5 13:26:27.567: IP: Ethernet0/0 to Seriall/0 10.10.10.2

*Dec 5 13:26:27.655: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, Ten 100, policy match

*Dec 5 13:26:27.655: IP: route map blah, item 10, permit

*Dec 5 13:26:27.655: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Seriall/0),len 100, policy routed

*Dec 5 13:26:27.655: IP: Ethernet0/0 to Seriall/0 10.10.10.2

*Dec 5 13:26:27.727: IP: s=10.100.100.3 (Ethernet0/0),



d=10.200.200.4, T1en 100, policy match
*Dec 5 13:26:27.727: IP: route map blah, item 10, permit
*Dec 5 13:26:27.727: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Seriall/0),len 100, policy routed
*Dec 5 13:26:27.727: IP: Ethernet0/0 to Seriall/0 10.10.10.2

B2 : £Mset ip next-hopan = M B RERE Mt E B R KM EX H
REERATEE :

R1

R1#show running-config
Building configuration...
!
!
interface Ethernet0/0

ip address 10.100.100.1 255.255.255.0
ip policy route-map blah

|
interface Seriall/0

ip address 10.10.10.1 255.255.255.0

!
interface Serial2/0

ip address 10.20.20.1 255.255.255.0

I

router ospf 1
!I--- OSPF is not configured on Seriall/0.

log-adjacency-changes
network 10.20.20.0 O.
network 10.100.100.0
|

ip classless

no ip http server

!
access-1list 100 permit ip host 10.100.100.3 host 10.200.200.4
!
route-map blah permit 10
match ip address 100

set ip next-hop 10.10.10.2

55 area 0

0.0.2
0.0.0.255 area 0

!
end

R2

R2#show running-config
Building configuration...
!
!
interface Ethernet0/0

ip address 10.200.200.2 255.255.255.0
ip policy route-map blah




|
interface Seriall/0

ip address 10.10.10.2 255.255.255.0
fair-queue

|
interface Serial2/0

ip address 10.20.20.2 255.255.255.0
!

router ospf 1
!I--- OSPF is not configured on Seriall/0.
Tog-adjacency-changes

network 10.20.20.0 O.
network 10.200.200.0

0.0.255 area 0
0.0.0.255 area 0
|
ip classless

no ip http server
|
!
!
access-1ist 100 permit ip host 10.200.200.4 host 10.100.100.3
!
route-map blah permit 10
match ip address 100

set ip next-hop 10.10.10.1
!
end

BERG D2

fEA M Bsetip next-hop , BHBERBEHARFTRESE T —810.10.10.2, MREHKPEFEBW
BB, IET B2 , RERBERS,

R1l#show ip route 10.10.10.2
Routing entry for 10.10.10.0/24
Known via"connected”, distance 0, metric O (connected, viainterface)
Routing Descriptor Blocks:
* directly connected, via Serial1/0
Route metricis 0, traffic share count is 1

R1l#show ip route 10.200.200.4

Routing entry for 10.200.200.0/24

Known via "ospf 1", distance 110, metric 74,

type intra area Last update from 10.20.20.2 on Serial2/0, 00:11:48 ago

Routing Descriptor Blocks: * 10.20.20.2, from 10.30.30.3, 00:11:48 ago,

via Serial2/0 Route metric is 74, traffic share count is 1

R1#debug ip policy Policy routing debugging is on

*Dec 4 12:53:38.271: IP: s=10.100.100.3 (Ethernet0/0), d=10.200.200.4, len 100, policy match
*Dec 4 12:53:38.271: IP: route map blah, item 10, permit

*Dec 4 12:53:38.271: IP: s=10.100.100.3 (Ethernet0/0),

d=10.200.200.4 (Seriall/0), Ten 100, policy routed *Dec 4 12:53:38.271:

IP: Ethernet0/0 to Seriall/O 10.10.10.2 *Dec 4 12:53:38.355:

IP: s=10.100.100.3 (Ethernet0/0), d=10.200.200.4, Ten 100, policy match *Dec 4 12:53:38.355:
IP: route map blah, item 10, permit *Dec 4 12:53:38.355:

IP: s=10.100.100.3 (Ethernet0/0), d=10.200.200.4 (Seriall/0), Ten 100, policy routed



*Dec 4 12:53
*Dec 4 12:53
*Dec 4 12:53

:38.355: IP: Ethernet0/0 to Seriall/O 10.10.10.2
:38.483: IP: s=10.100.100.3 (Ethernet0/0), d=10.200.200.4, Ten 100, policy match
:38.483: IP: route map blah, item 10, permit

R2#show ip route 10.100.100.3 Routing entry for 10.100.100.0/24 Known via "ospf 1",

distance 110
00:11:42 ago

, metric 74, type intra area Last update from 10.20.20.1 on Serial2/0,
Routing Descriptor Blocks: * 10.20.20.1, from 10.100.100.1, 00:11:42 ago,

via Serial2/0 Route metric is 74, traffic share count is 1 R2#debug ip policy
Policy routing debugging is on *Dec 4 12:53:38.691:

IP: s=10.200

.200.4 (Ethernet0/0), d=10.100.100.3, len 100, policy match *Dec 4 12:53:38.691:

IP: route map blah, item 10, permit *Dec 4 12:53:38.691: IP: s=10.200.200.4 (Ethernet0/0),

d=10.100.100

*Dec 4 12:53:
IP: s=10.200.
*Dec 4 12:53:
*Dec 4 12:53:
*Dec 4 12:53:
IP: s=10.200.
d=10.100.100.

*Dec 4 12:53

.3 (Seriall/0), len 100, policy routed

38.691: IP: Ethernet0/0 to Seriall/0 10.10.10.1 *Dec 4 12:53:38.799:

200.4 (Ethernet0/0), d=10.100.100.3, Ten 100, policy match

38.799: IP: route map blah, item 10, permit

38.799: IP: s=10.200.200.4 (Ethernet0/0), d=10.100.100.3 (Seriall/0), len 100, policy rout
38.799: IP: Ethernet0/0 to Seriall/0 10.10.10.1 *Dec 4 12:53:38.899:

200.4 (Ethernet0/0),

3, len 100, policy match

:38.899: IP: route map blah, item 10, permit

EBMIPHu XA TIERE , ERERETRIEMHE,

*Dec 5 13:33

:23.607: IP: s=10.100.100.3 (Ethernet0/0),

d=10.200.200.4, Ten 100, policy match

*Dec 5 13:33
*Dec 5 13:33

:23.607: IP: route map blah, item 10, permit
:23.607: IP: s=10.100.100.3 (Ethernet0/0),

d=10.200.200.4 (Seriall/0),len 100, policy routed

*Dec 5 13:33
*Dec 5 13:33

:23.607: IP: Ethernet0/0 to Seriall/0 10.10.10.2
:23.707: IP: s=10.100.100.3 (Ethernet0/0),

d=10.200.200.4, Ten 100, policy match

*Dec 5 13:33
*Dec 5 13:33

:23.707: IP: route map blah, item 10, permit
:23.707: IP: s=10.100.100.3 (Ethernet0/0),

d=10.200.200.4 (Seriall/0),len 100, policy routed

*Dec 5 13:33
*Dec 5 13:33

:23.707: IP: Ethernet0/0 to Seriall/0 10.10.10.2
:23.847: IP: s=10.100.100.3 (Ethernet0/0),

d=10.200.200.4, Ten 100, policy match

*Dec 5 13:33

:23.847: IP: route map blah, item 10, permit

ESerial 1/0/T ERARARE , BART T—810.10.10.2F % , ER T RMEFNRAR,

*Dec 5 13:40

:38.887: IP: s=10.100.100.3 (Ethernet0/0),

d=10.200.200.4, len 100, policy match

*Dec 5 13:40
*Dec 5 13:40

:38.887: IP: route map blah, item 10, permit
:38.887: IP: s=10.100.100.3 (Ethernet0/0),

d=10.200.200.4 (Serial2/0), len 100, policy rejected -- normal forwarding

*Dec 5 13:40

:39.047: IP: s=10.100.100.3 (Ethernet0/0),

d=10.200.200.4, len 100, policy match

*Dec 5 13:40
*Dec 5 13:40

:39.047: IP: route map blah, item 10, permit
:39.047: IP: s=10.100.100.3 (Ethernet0/0),

d=10.200.200.4 (Serial2/0), len 100, policy rejected -- normal forwarding

*Dec 5 13:40

:39.115: IP: s=10.100.100.3 (Ethernet0/0),

d=10.200.200.4, len 100, policy match

*Dec 5 13:40

:39.115: IP: route map blah, item 10, permit



*Dec 5 13:40:39.115: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Serial2/0), Ten 100, policy rejected -- normal forwarding

619473 : FEHset ip default next-hop MR HHEIT R B
AEFERAUTEE :

R1

R1#show running-config
Building configuration...
!
!
interface Ethernet0/0

ip address 10.100.100.1 255.255.255.0
ip policy route-map blah

!

interface Seriall/0

ip address 10.10.10.1 255.255.255.0

!

interface Serial2/0

ip address 10.20.20.1 255.255.255.0

!
ip route 0.0.0.0 0.0.0.0 10.20.20.2

|
ip classless

no ip http server

!
access-1list 100 permit ip host 10.100.100.3 host 10.200.200.4
!
route-map blah permit 10

match ip address 100

set ip default next-hop 10.10.10.2
|
end

R2

R2#show running-config
Building configuration...
|
|
interface Ethernet0/0

ip address 10.200.200.2 255.255.255.0
ip policy route-map blah

|
interface Seriall/0

ip address 10.10.10.2 255.255.255.0
fair-queue

!
interface Serial2/0

ip address 10.20.20.2 255.255.255.0
I

ip route 0.0.0.0 0.0.0.0 10.20.20.1




|
end

ip classless
no ip http server

access-1ist 100 permit ip host 10.200.200.4 host 10.100.100.3

route-map blah permit 10
match ip address 100
set ip default next-hop 10.10.10.1

BREH D3
£ A dn Hset ip default next-hophs , IR B ZMNMK — R HRFERES (BKBERPIEZXEENS

EREH ) ,

R1l#show 1ip

BRI EITRIEME,

route 10.200.200.4

% Network not in table

R1#

R1l#show 1ip

route 0.0.0.0

Routing entry for 0.0.0.0/0, supernet

Known via

'static", distance 1, metric 0, candidate default path

Routing Descriptor Blocks:

* 10.20.20.

2

Route metric is 0, traffic share count is 1

R1#
*Dec 4 12
*Dec
*Dec 4 12
*Dec
*Dec 4 12
*Dec
*Dec 4 12
*Dec 4 12
*Dec

*Dec
*Dec 4 12
*Dec

R2#show 1ip

:58:55.191: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.
4 12:

200.4, len 100, policy match
58:55.191: IP: route map blah, item 10, permit

:58:55.191: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.
4 12:

200.4 (Seriall/0), len 100, policy routed
58:55.191: IP: Ethernet0/0 to Seriall/0 10.10.10.2

:58:55.291: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.
4 12:

200.4, len 100, policy match
58:55.291: IP: route map blah, item 10, permit

:58:55.291: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.
:58:55.291: IP: Ethernet0/0 to Seriall/0 10.10.10.2
4 12:
d=10.200.
4 12:

200.4 (Seriall/0), len 100, policy routed

58:55.391: IP: s=10.100.100.3 (Ethernet0/0),
200.4, len 100, policy match
58:55.391: IP: route map blah, item 10, permit

:58:55.391: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.
4 12:

200.4 (Seriall/0), len 100, policy routed
58:55.391: IP: Ethernet0/0 to Seriall/0 10.10.10.2

route 10.100.100.3

% Network not in table

R2#show 1ip

route 0.0.0.0

Routing entry for 0.0.0.0/0, supernet

Known via

'static", distance 1, metric 0, candidate default path



Routing Descriptor Blocks:
* 10.20.20.1
Route metric is 0, traffic share count is 1

R2#

*Dec 4 12:58:20.819: %SYS-5-CONFIG_I: Configured from console by console

*Dec 4 12:58:55.611: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3, Ten 100, policy match

*Dec 4 12:58:55.611: IP: route map blah, item 10, permit

*Dec 4 12:58:55.611: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3 (Seriall/0), Ten 100, policy routed

*Dec 4 12:58:55.611: IP: Ethernet0/0 to Seriall/0O 10.10.10.1

*Dec 4 12:58:55.739: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3, Ten 100, policy match

*Dec 4 12:58:55.739: IP: route map blah, item 10, permit

*Dec 4 12:58:55.739: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3 (Seriall/0), Ten 100, policy routed

*Dec 4 12:58:55.739: IP: Ethernet0/0 to Seriall/0O 10.10.10.1

*Dec 4 12:58:55.799: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3, Ten 100, policy match

*Dec 4 12:58:55.799: IP: route map blah, item 10, permit

*Dec 4 12:58:55.799: IP: s=10.200.200.4 (Ethernet0/0),
d=10.100.100.3 (Seriall/0), len 100, policy routed

*Dec 4 12:58:55.799: IP: Ethernet0/0 to Seriall/0O 10.10.10.1

E BHR Serial 2/0BFA M A FERRIRHAE , ER SR ETRIEMHBE,

<#root>
R1#
show ip route 0.0.0.0

% Network not in table

R1#

*Dec 5 13:02:31.283: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, Ten 100, policy match

*Dec 5 13:02:31.283: IP: route map blah, item 10, permit

*Dec 5 13:02:31.283: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Seriall/0),len 100, policy routed

*Dec 5 13:02:31.283: IP: Ethernet0/0 to Seriall/0 10.10.10.2

*Dec 5 13:02:31.375: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, Ten 100, policy match

*Dec 5 13:02:31.375: IP: route map blah, item 10, permit

*Dec 5 13:02:31.375: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Seriall/0),len 100, policy routed

*Dec 5 13:02:31.375: IP: Ethernet0/0 to Seriall/0 10.10.10.2

*Dec 5 13:02:31.435: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4, Ten 100, policy match

*Dec 5 13:02:31.435: IP: route map blah, item 10, permit

*Dec 5 13:02:31.435: IP: s=10.100.100.3 (Ethernet0/0),
d=10.200.200.4 (Seriall/0),len 100, policy routed

*Dec 5 13:02:31.435: IP: Ethernet0/0 to Seriall/0 10.10.10.2

1£Serial2/0B R M Serial 1/0BRAMNERT , BAEELRT—B , ERESBEMEFER (BKAX ) -K
BEIRIEAE



<ffroot>

R1#

debug ip policy

Policy
R1#
*Dec 5

d=10.

*Dec 5
*Dec 5

d=10.

*Dec 5

d=10.

*Dec 5
*Dec 5

d=10.

*Dec 5

d=10.

*Dec 5
*Dec 5

d=10.

routing debugging is on

12:46:49.543: IP: s=10.100.100.3 (Ethernet0/0),
200.200.4, 1en 100, policy match

12:46:49.543: IP: route map blah, item 10, permit
12:46:49.543: IP: s=10.100.100.3 (Ethernet0/0),
200.200.4 (Serial2/0),1en 100, policy rejected --
12:46:49.623: IP: s=10.100.100.3 (Ethernet0/0),
200.200.4, 1en 100, policy match

12:46:49.623: IP: route map blah, item 10, permit
12:46:49.623: IP: s=10.100.100.3 (Ethernet0/0),
200.200.4 (Serial2/0),1en 100, policy rejected --
12:46:49.691: IP: s=10.100.100.3 (Ethernet0/0),
200.200.4, len 100, policy match

12:46:49.691: IP: route map blah, item 10, permit
12:46:49.691: IP: s=10.100.100.3 (Ethernet0/0),
200.200.4 (Serial2/0),1en 100, policy rejected --

MEAE A

normal forwarding

normal forwarding

normal forwarding
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